3PNy Jemoqg

RS TI-R A/ PRI £
HCLT / HCLF

kg N
- wo0 ! Q /
e idf
7y 4 FaiER
| § 2-Jaw, 4-Jaw B AL RE
4 FERER
o e £% BRI RR
0 ZSRIR, R, B
B HS5HEERNXR
HCLT-06 / HCLT-08 HCLT-10 / HCLT-12 / HCLF-08 / HCLF-12
40
— 80
35 HCLT-12
- HCLT+08 N CLF-12
HCLT+06 60
2% ~
Z 2 i N z HOLTFT0 T\
3 15 T~ = @ — N
g, 10 g 20 N
g s g
2 0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 < 0 500 1000 1500 2000 2500 3000 3600
Speed : min™ (rp.m)) Speed : min™ (rp.m)
=g
HCLT-06 HCLT-08 HCLT-10 HCLT-12 HCLF-08 HCLF-12
RMITIR(ER) [mm] 13 16.2 18.1 194 16.2 194
HZETIE [mm] 20 25 28 30 25 30
BIFER Max. [mm] 165 210 254 304 210 304
BIFER Min. [mm] 22 24 27 33 24 33
VPRI ARIN [kN(kef)] 14(1428) 20(2039) 27(2753) 36(3671) 20(2039) 36(3671)
VPR AIERFA [KN(kgf)] 26(2651) 40(4079) 54(5508) 74(7546) 40(4079) 74(7546)
AR AR AR [min™'] 4300 4300 3100 2500 3600 2500
BE [ke] 12,5 12,5 355 60.5 24 60.5
RIES%E [N - mi(kg - m)] 1.67(0.17) 1.67(0.17) 11.47(1.17) 27.75(2.83) 5.20(0.53) 27.75(2.83)
77 [MPa(kgf/cm?)] 2.06(21.0) 2.03(20.7) 1.93(19.7) 2.50(25.5) 2.03(20.7) 2.50(25.5)
&R Cyl Y-1020R Y-1225R Y-1530R Y-1530R Y-1225R Y-1530R
NLT-06 NLT-08 NLT-10 NLT-12 NLT-08 NLT-12

¥ AU RAFRIUTSINE R .
¥ R SHIE I e R RS AER &,
% =T EHRIIETRA Kitagawa #21i OEM 47~



FHEE - @22~ @304

Q SERRATION PITCH 1.5 W
R S = gl
]
g ELX E
9 O
! z H
‘ &£
: :
© K F
B
HCLT(2-JAW) HCLF(4—JAW)
X A TRFEERRES, FESRENDEB2R .
R
HCLT-06 HCLT-08 HCLT-10 HCLT-12 HCLF-08 HCLF-12
165 210 253 304 210 304
[ B | 74 85 89 106 85 106
140 170 220 220 170 220
104.8 1334 1714 1714 1334 17145
6-M10x70 6-M12x85 6-M16x105 6-M16x120 4-M16x85 4-M16x120
14 20 38 38 20 38
20 25 30 30 25 30
405 481 544 65.7 481 657
34 40 4535 56 40 56
1375 21 295 4275 21 4275
9.25 12 15 12.25 12 12.25
1015 131 161 163 131 163
815 106 133 133 106 133
[ o | 31 35 40 50 35 50
[ r | 12 14 16 18 14 18
36 36 36 36 36 36
M16x2.0 M20x2.5 M20x2.5 M20x2.5 M20x2.5 M20x2.5
34 38 45 50 38 50
35 2 46 54 42 54
72 95 110 129 95 129
RELATED PRODUCT
e O Eil
262p 256p 114p



	动力卡盘 60
	动力卡盘 61

